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QUESTION 4

4.1 F(0)y= (02 —-2(0)—3 (2)
=-3 f(0) = (0)* —2(0) — 3v
A(0; —3) _3v
A(0; —3),Answer only, full marks
4.2 x2—2x—-3=0 (4)
(x—3)(x+1)=0 x—DNx+1)v
x=3 or x=-1 =0v
x*—2x—-3=0 B(—-1;0)v
B(-1;0) C(3;0)v
C(3;0)
43 =0+ _ (3)
3+0
A(0;—3) m=1v
2g(x)=x—3 Fe)=x =3
44 =D 3)
2(1) x=1v
y=(1)*-2(1)-3= —4 y=(1)2-2(1)—-3v
D(1;-4) (1)* —2(1) -3¢
D(1; —4), answer only, full marks
4.5 x — value at point = 1 (3)
~g(1)=(1)—-3= -2 g(1) = (1) — 3+, correct substitution
ED =Y, —Y, y=—2v
= Max — Min ED =12¥
ED=2
4.6 y=—4yeER (1)
OR y=z—-4,veERv
y:y € |[—4; ) OR

y:y €[4 0)v
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QUESTION 5

Given: f(x) = % —Zandacircle x2+y%2 =16

5.1 x=10 (2)
y=—2 x=0v
= —2v
5.2 For x-intercept, y = 0 (4)
3
0=--2
3 x 0= o 2, equating to zerov
—-=7
x _3,
3 X=3
X ==
2 3
- v
(3 D) (2 ' D)
2 There is no y — interceptv
There is no y — intercept
5.3 ri=16 (2)
r=4 r? =16v
r=4v
Answer only, full marks
5.4 (5)
¥ circle
¥'both x and y intercopts of the circle
¥'shape of the hyperbola
¥'x — intercept of the hyperbola
¥, asymptote(s)
5.5 Write down the domain of the circle (1

—4<=<=x=<4
1x E|[—4 4]

—4<x <4V
or

xx €[4 4]
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U the skesch bellow, Mixj=§&" + 2 and T

[cain o

:5) is

B = f%]L +2
1 L

6=(3)

J:'—||:-i__l':-

¥ =-—1kh3

¥
.':\..\. .I' ‘
-f.\.
.\l"'\.
(-1 %
L
—
.............. I ————
- 0 h-_'_
¥
il Caloulome the vilie ol n . | 3
fixi=hb*+2
E=h1413 S=8" + 3+, correct suhshituiton
I=p41 I =" simplification
1 . 1
||:'—.J.--'—— |I:I—.‘|-'——'r
4
2 1Y (2
fioy = [—] + 2 o
3 . -'1'-| )
froy =13 i) = l}. LG
(il 1) Fily = 3+
Lk fixy=3"+2 3
Ffilx)y = 3T + I+
b4 Ifix:%) is a point on the graph (| caleulate the of . {2

it
h = I.T_II ¥
= |I1_E_|l'.-'-"

I =—1hds




